Week 6
Friday 1st May 2020
Year 6- Maths reasoning and problem solving
Please click on this link for revision on metric units https://www.youtube.com/watch?v=1TlCcW_mugs
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Calculate with Metric Measures

Calculate with Metric Measures

1a.The sign in the pefrol station reads:

Petrol: £1 per 1.83L
Diesel: £1 for 1,650ml

Which fuel is the most expensive?

hig

Tb. A brick is 30cm in length. The length
of the wallis ém long.

How many bricks are there in one layer of
the wall?

hig E

2a. Stacey and Danny do the long jump.
Danny jumps the furthest. Arrange the
digit cards fo make the following
statement frue.

(el (I,

2b. Bags of charcoal weigh less than
frozen turkey. Arrange the digit cards fo
make the following stalement fve.

()L, <Cle),

3a. The lit can hold up fo 500kg. An
average person weighs 70kg. Marcus
says,

3b. Twelve 1 lire boffles of wafer are
delivered. I fakes 6.250mifo fil the fank.
Libby says.

Eight people can get in
the lift fogether.

Iwill have 6 lires of
‘water lefi.

A

.

Is he comect? Explain your answer.

hig .

Is she comect? Explain your answer.

% .
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4a. A fish tank needs 375 lires of water fo
filt. The fank has fo be filed using a jug
that holds > litres.

4b. Ten ships of wood are three different
lengths. There is a gap in the fence that is
360cm.

Stiip A = 45 cm

How many jugs will it fake to il he fank?

hig

How many of each ship of wood will it
info the gap?

Sa. The weight of a shopping bag is
heavier than a bag of polatoes. Aange
the digit cards fo make the following
statement frue.

oRpsEo6)

5b. A walering can holds more water than
a pan. Arrange the digil cards o make
the following staement frue.

LG > EETe

%

4a. A piece aribbon wrapped around a
jar measures 10cm. Diana buys a length
of ribbon and says.

6b. An orange weighs 129. Filipo weighs
two bags of oranges and says,

s length is 2.75m and
will be long enough fo
do 30 jars.

Together,two bags of
oranges weigh 0.204kg. |
/) Croivone 8 oranger

O

Is she comect? Explain your answer.

% .

Is he comect? Explain your answer.

% .
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[ —
2.08m. The length from the curiain rail fo.
i fooris 1. mer lange thamhe
cuoins

How many more meres of material did
they need o get?

b4

7b. The lion weighs 200kg.
The gorilla is 80% of the weight of a lion.

How heavy is the gorilla in kg?

e .

8a. Jayne has 3.85 lires of lemonade.
Dom has 40% more than her. Show his
measurement compared fo Jayne's using
the digit cards.

0000%0800)

8b. The length of the football pitch is
‘approximately 120m and is § fimes the.
length of a cricket pitch. Show the fwo.
lengths using the digit cards.

P LT
LUEY

9a. Each child brings in a fin of food for
the Harvest fesival. A fin weighs 0.405kg.

9b. Genevieve has 6 lifres of
needs 2.250ml.

butonly

There are 45 children n the class. Jacob | She says.
sas.
We can have = of the
The bosket holds up fo &
20kg so will be able fo ‘milk for our breakfast
hoid allhe fins. /
2 2 tomorrow.

Is he comect? Explain your answer.

& .

Is she comect? Explain your answer.

b2





